
 

 

 
 
 
 
 
 

Answer all the questions. ( Two marks for each right option ) 
Read the following passage, then choose the right option from 1-4 questions:- 
                Mr. Robinson had to travel somewhere on business, and as he was in a hurry, he decided to go by air. 

He liked to sit beside a window when he was flying, so when he got onto the plane, he looked for a window seat. 
He found that all of them had already been taken except one. There was a soldier sitting in the seat beside this 
one, and Mr. Robinson was happy that the soldier had not taken the one by the window; but, anyhow, he at once 
went towards it. When he reached it, however, he saw that there was a notice on it. It was written in ink and said, 
‘This seat is reserved for proper load balance. Thank you.’ Mr. Robinson had never seen such a notice in a plane 
before, but he thought that the plane must be carrying something particularly heavy in its baggage room which 
made it necessary to have the passengers properly balanced, so he walked on and found another empty seat, not 
beside a window, to sit in. When the plane was nearly full, a very beautiful girl stepped onto the plane. The soldier, 
who was watching the passengers coming in, quickly took the notice off the seat beside him and by this way he 
succeeded in having the company of the girl during the whole of the trip. 

1. When Mr. Robinson got onto the plane, at first, he was happy to find that……………… 
      A- a notice was put in the window seat.                             B- some of the seats were not taken  

      C- there was a seat that he hoped to have.                        D- the plane was not very crowded. 

2. Which of the following sentences is true according to the passage? 
      A- Mr. Robinson was the last passenger to get on board the plane.  

      B- Mr. Robinson saw the notice on the seat.     

      C- The window seats were all reserved for proper load balance. 
      D- The plane Mr. Robinson took was heavily loaded with luggage. 

3. In the end Mr. Robinson found out that……………………   

     A- the notice was put on the seat by the soldier.   B- the seat by the window was kept for any passengers. 

     C- The soldier failed in having the company of the girl.    D- the soldier was waiting for his girlfriend. 

4. Mr. Robinson loved to sit ………………… when he was flying.  
     A- next to pretty girls        B- in the front of the plane   

     C- anywhere but not beside a window             D- beside a window 

5. (1776) was the date when…………………… 

     A- America became independent of British rule.        B- crime levels were very high in New York.     

     C- Some Dutch people founded New Amsterdam.       D- the British took over New Amsterdam. 

6. Students will be too tired to remember much if they ……………………. 

     A- plan each day.         B- kill two birds with one stone.    C- put things off. D- organize their things.    

7. The Citadel mound ………………….. and it has never been properly investigated by ………………. 
     A- contains lots of buried money / early civilizations.  B- must be allowed to die / a long-forgotten people. 

     C- has many remains / archaeologists.                       D- has lots of new buildings / archaeologists. 

8. .................... scientists improved the technology of fibre optics to use it over long distances. 

   A- After 2000          B- In 1991             C- From the early 20th century            D- In the 1960s and 70s 

9. Before travelling to Kurdistan, Chris Carr …………………. 

     A- had planned only to write about genocides in Kurdistan.          B- knew very little about the Anfal. 

     C- knew everything about the history of the Kurdish people.        D- wanted to hear about the Anfal. 

10. Plants ……………..actually grow better and faster than plants ………………… 
      A- that have weeds / that get the soil’s nutrients.        B- in ordinary soil / that are grown in liquids.             

      C- in light, dry soil / that get enough rain.                    D- that are grown in liquids / in ordinary soil.   

11. As a ……………… , Carla Green helped young people …………...…  
      A- technician / who create websites.                        B- website designer / who were often happy. 

      C- volunteer / with emotional problems.                D- help-desk adviser / that had emotional problems. 

12. John is going to ……….a message to Jack so as to tell him that “Channel 10 will ………the Cup Final”. 

       A- send / transmit             B- transmit / interact              C- transmit / send             D- access / transmit   

13. Choose the right option: 
      A- The sound / dӠ / is found in the word (guinea).         B- There is / ʊ / sound in the word (cubic). 

      C- There is / ð / sound in the word (though).             D- The word (charity) carries the sound / ∫ /.          

14. The underlined letter and letters in the word ………… are sounded as …….….and…………  

     A- useless, / s /, / s /          B- disaster, / z /, / z /          C- studios, / z /, / s /             D- discuss, / z /, / ᴣ /    

15. The vowel sound / i / is found in …………… and the word …………. doesn't have the sound /ɜ:/. 

       A- visa / century              B- please / certain                 C- seal / burn                 D- liberty / pepper 

16. The word (exhibition) has ………… silent letter(s) and it has the sound ………. 

      A- no , / ∫ /                          B- one , / s /                        C- two , / k /                    D- three ,  / g / 

17. In the word (kissed) the letters (ed) are not pronounced as the same as the letters (ed) in ………………  

      A- landed                          B- frightened                     C- sailed                       D- All of them are correct.     

18. (It is a waste of time to sit here doing nothing; don't waste my time, please.)  
       The form of the underlined words are……………………. 

      A- adjective / adverb              B- noun / noun               C- noun / verb                 D- verb / noun 

19. Choose the correct word for this definition: "right for a certain purpose, person or situation". 

      A- prefer                                B- suitable                       C- specialize                   D- interactive 

20. Choose the right (two-word nouns). 

     A- ski exchange                B- health care           C- weapons of change     D- passport departure  

21. The word …………… has two different noun forms, but the opposite of the word decrease is ……… 

     A- produce / increase         B- act / low                    C- decide / high                D- produce / appear 

22. Choose the correct answer: 

    A- The word (atmospheric) goes with (emissions).  

    B- The suffix (-er) is used to make (educate) a noun person. 
    C- The word (diffrently)is correctly spelt.                  
    D- Both A and C. 

23. Linda asked me ………………..time to write an essay and I told her……………….. about that. 

      A- whether would I have / not to worry.        B- if I would have / not to worry.   

      C- when I can have / worry not to.                  D- if I would had / to not worry. 

KURDISTAN REGION GOVERNMENT -IRAQ     IN THE NAME OF GOD    Time:3.00 hours  

HIGH COMMITTEE OF THE GENERAL EXAMINATION                                        

General Examinations for Preparatory Stages                                                  (scientific & Literary )                 

Academic year 2021-2022  /Grade twelve  1st Attempt                               Subject : English Language    

Finger Print  

m
o
e
g
r
o
u
p
i
d 

 وةلآمي نموونةيي



 

 

24. I’d………….……. you a present if I’d ………………………..it was your birthday.                   

      A- had bought / have known      B- have bought / known         C- buy / knew         D- bought / had known 

25. We ………… follow the law…………………  safely together.                                 
       A- had to / so that we can live          B- have to / so as to life       

       C- has to / for the purpose of living              D- have to / so that we can live  

26. Why are you going so slowly?............................. your new car yet?         
      A- Did you use to drive                                                     B- Didn’t you used to driving               

      C- Have you got used to drive                                          D- Haven’t you got used to driving 

27. The Corona Virus is ……………………… a lot of people die every day.                                         

       A- the region where             B- the reason why           C- the place when         D- the season why  

28. I have three brothers. Bill is………………………and Tom is………………… 

       A- the youngest / the oldest                                         B- the younger / the oldest            

       C- more older than / less younger than                          D- the oldest / the most youngest 

29. …………………. of the Earth’s surface is water.  

        A- A quarters                  B- Three quarters                   C- Two third                        D- Two fifth      

30. Which one expresses Certainty and Passive? 

      A- Photos must be taken during the test.                        B- Her hair may be cut by the barber. 

      C- The audience must have being interested in it.   D- He can’t have be bitten by a snake.   

31. You …………… able to play the guitar as long as you …………… and practised more. 

       A- 'll be / try                  B- would be / tried                      C- wouldn't be / try                 D- Both A and B. 

32. Choose the correct form of suggestion. 

      A- I suggest we eat lunch by a stream.       B- What about goes for a walk in Central Park with me?  

      C- Why not visit the Tourist Office to get more information.   D- Let is walk round the city all day today. 

33. Martin ………………. a bike two weeks ago and he ………………. it every day since he got it.  
       A- bought / has been ridden                                  B- buys / has been riding   

      C- has bought / has rode                                       D- bought / has been riding 

34. Have the electrics …………… by the electrician yet? No, but they ……………… now. 

     A- been changed / are being changed                  B- been changed / are been changed.                 

     C- being changed / are changing.                         D- been changed / are going to being changed. 

35. Alan Rees is someone who I regard as a great IT leader. In this sentence the relative pronoun …………… 

      A- is necessary              B- is not necessary                  C- can’t be deleted.                D- Both B and C  

36. …..…….………this book, hasn’t he? 

      A- He’s reading               B- He read                           C- He’s read                         D- He reads  

37. ……..…… ………… at eight o’clock. Can you come later?   

      A- I will working            B- I will be working               C- will I be working               D- I will being worked 

38. Which negative question is correctly formed? 

       A- Why don’t you wear a mask?                             B- Hasn’t she did anything about it? 

       C- Won’t you sat down, please?                                   D- Can’t they downloading the file? 

39. Choose the correct one. 
     A- There aren’t enough food for everyone to eat.          B- This tea is not enough cold for me to drink.  

     C- He was too nervous to perform well on the stage.     D- The task was too difficult to done without help. 

40. After……………….. the report, he ………………….me.                
    A- he finishes / will come and help                                       B- he had finished / came and helped     

     C- finishing / came and helped                                             D- All of them are correct 

41. Choose the correct form of advice.  
    A- You ought to not drink so much cold water.    B- You had not better anyone know about your problems. 

    C- You has to consult a doctor when you got sick.     D- You should keep everything tidy and ready to use.   

42. Our old car………………a lot of problems. 

      A- appears having          B- seems to having              C- appears to have                 D- seems to had   

43. Choose the wrong option according to the story of Treasure Island. 

        A- “Hangings” wasn’t one of the stories that were told by Captain Bill. 

       B-Both Pew and Ben Gunn were bend over. 
      C- Mr. Arrow and the squire were very friendly.           
      D- Captain Bill won the fight and made Black Dog ran away. 

44. …….….. was a true seaman who was killed by…..….and his dying scream was heard by several people. 
      A- Old Tom Redruth / the pirates                                      B- Tom / the pirates  

      C- Dick / Long John Silver                                                D- Alan / the mutineers        

45. Silver visited the stockade so as to………………... 
      A- talk to Captain Smollett and make peace.         B- ask Smollett to stop shooting his poor seamen. 

      C- tell Smollett to give him the treasure map.         D- All of them are correct. 

46. When Jim and his mother were on their way back to the village, they heard……………………. 
      A- the tap-tapping of the blind man’s stick on the road.               
      B- a whistle blew far up on the hill. 

      C- the sound of someone running, first in the distance and then getting nearer. 

      D- the handle of the door being turned. 

47. The ship’s officer, Mr. Arrow was ……………………… 
      A- not able to choose the crew by himself.                           B- able to control over the crew.        

      C- worse than the captain of Hispaniola had feared.            D- None of them.  

48. At first, Silver was very excited when Captain Smollett showed him a map, but then he was disappointed      
        because…………… 

      A- it was not Captain Flint’s treasure map.  

      B- there were only red crosses and written notes on the map.  
      C- it was the map Jim had found in Billy Bone’s chest.   
     D- it was Captain Flint’s real map.  

49. When Jim saw the Hispaniola again next morning, he………………… 
     A- wanted to stop the ship from hitting the rocky shore.          B- knew that someone was sailing her. 

     C- had the idea of getting the ship back from the pirates.       D- None of them. 

50. Jim refused to run away with the doctor because……….…………… 
       A- he didn’t trust him.                                                B- Silver had blamed him for leaving the captain.   

       C- Silver let the pirates kill Jim.                                  D- he had given Silver his word to stay. 


